
Horizontal multiplication

Math in English

Multiply the following numbers

3 217 =× 7 5 =× 2 3 =×

6 8 =× 8 9 =× 2 5 =×

6 9 =× 7 8 =× 9 9 =×

5 10 =× 9 7 =× 8 7 =×

7 4 =× 3 6 =× 8 8 =×

9 3 =× 8 2 =× 3 9 =×

10 2 =× 9 4 =× 8 10 =×



Horizontal multiplication

Math in English

Multiply the following numbers

3 217 =× 7 355 =× 2 63 =×

6 488 =× 8 729 =× 2 105 =×

6 549 =× 7 568 =× 9 819 =×

5 5010 =× 9 637 =× 8 567 =×

7 284 =× 3 186 =× 8 648 =×

9 273 =× 8 162 =× 3 279 =×

10 202 =× 9 364 =× 8 8010 =×


